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Note : (i) This Question Paper consists of two Sections—Section ‘A’ and Section B’.

(iij) Al the questions of Section ‘A’ are compulsory.

(iii) Candidates are given a choice in Section ‘B’. They are required to attempt
the questions either from ‘Option-I’ or ‘Option-II’.

(iv) Maximum marks of each question are indicated against it.
fEor: () 39 9W-TT H 9 @Ue —ue ‘3 991 @vg o |

(i) @ve ‘37 # fou T weft g At F)
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SECTION-A
Qus-A

1. Name a recent nuclear disaster and give its consequence. 1

BT 2 U AR HTIET 1 A1 FATE qAT IHehT TROMH off ATz |

2. List two environmental issues that confront us today. 1

3 81yt aeenst gt sy e e e o w® 2

3. Name the chemical responsible for Minamata disease. 1

foamTer T % o SoerRl WEE w1 9m adEy |

333/SS/A/19 2



4. State any two causes of deforestation. 1

AT % IS &Y HRU TART |

5. Give the technical term of the following interactions : 2

(a) The suckerfish often attaches itself to a shark with the help of its suckers

(b) A sea anemone gets attached to the shell inhabited by a hermit crab

Frefetftaa sT=n=afshaneti o qeHiehl 19 SIaTST
(F) O TSl (TRHIT) TR I ST I TThT FRT Wk Aedt W oot ot @
(@) U T VAN 30 A9 36 e W ekt ot B fores i efife Se @ @

6. State the unique conditions prevalent on the earth which have enabled it to
sustain life. 2

geefl T Ul ST et 39 TSt uRfedtat i Same ek R o Sfted @l AT T 2 |

7. Distinguish between pioneer community and climax community. 2

STURTTHY TR TR =Ry Tgad | 3T amsy|

8. What do the following abbreviations stand for? Give their main objectives : 2
frafafaa afafieon % @sh § g @ fafee 3it 33 e 2w fafau
CITES; UNFCCC

9. List any four causes of land degradation in the world. 2

forea o yfu-s1agEa % #E wR FRw fafEn)

10. (a) What is the role of algae or aquatic plants like water hyacinth in removing
pollutants from wastewater?

(b) State two methods of recharging groundwater. 2

(%) ATl AU ST Nl S STA gAY (water hyacinth) i STaRTE ST § & Yguhi
1 e 8 T it 27

(@) 5ia & g i | fafeEt same
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11. What are biofertilizers? Name any two important biofertilizers which can be
considered for agro-based industries.

SI3Ek HT B &7 FIE G WEE SaSathl % AW Fdiee S W Hiy-sneria s % fon
forem foram < wear 21

12. Give two adaptations each, found in the flora and fauna of the desert region.

Yrear) 8 T T AT AT iR T # @ e ¥ R-a sgger T

13. Give I word for each of the following :
(a) A place where a river or a stream opens into the sea
(b) Floating green microorganisms and plants
(c) Rhizobium in the root nodules of leguminous plants

(d) A zone of junction between two adjoining diverse ecosystems
ffafaa & & w&s & fau 1 w2 SamEy -

(%) 98 TIM S&l W HIg 71 AT Gl 995 § SR et 8

(@) e i aTel & gEEsia 3R q1eq

(1) efiar (Srefiv) et it St # e ST ATl et § deg wewitEm
(=) < wefiuad fafay arftast & o= = afa-am

14. Name the causative organism and the modes of transmission of the following
diseases :

Filaria; Amoebic dysentery; Typhoid; Hepatitis
frfafaa T & Rl & 9m 3 R T=rur-fafiET darey
Frgaifa; s ufee; TEwiEe; RieEea

15. (@) To clean up the rivers, massive action plans have been launched by the
Government of India. Name the two action plans.

(b) State four main causes of pollution of the rivers.

(%) A = 1% FH & T IR TR 3 e FE-aeE s9E 81 8 e -AeEeT %
EICEERIEN

(@) Afet o ugfea T % ¥R Y@ HRU FdrE |
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16. State four human activities which have caused loss of biodiversity. 4

I TR A ToRATeheATdl shl == hifeTg fSieh shror Sierfefaedr =1 g &l &1 2|

17. (a) List four factors which have helped to bring about green revolution.

(b) Name a revolutionary variety of wheat obtained during this period and
enumerate its main characteristic features. 4

(%) 37 TR FRE! hH Gt T 0 wia wifd o= § weg firedt 2)

(@) TIE i T Fifawrl forem 1 A Saey S@ o1+t g1 § wmw T w7 3R 3ues fafte
AL AT |

18. (a) You are provided with the following data :
(1) The total number of individuals in a population (V)
(2) The total number of deaths per unit time (D)
(3) The total number of births per unit time (B)
Give the formula for obtaining (i) growth rate and (i) death rate.

(b) Draw a J-shaped curve to show population growth and explain how it
becomes S-shaped. 4

(%) 3Mehl FHEfaTRaa e fdg 7 & -
(1) Torelt S & Fal =Rt st 9@ (N)
(2) ufd 3T H T B aTelt geg il FA T (D)
(3) U gohTE It § B aTelt TaTewr s Fel T (B)
fafafaa um #@ & foe g s -
() FEH
(@) FF R
(@) J-3TRfd aral ag SAIEE dlfch SIS Jhg SRl ST "eh 3R THeeR Jdrsy TR a8
S-3THfd AT 9k foRd TR 9 ST 2

19. (a) Distinguish between fisheries and aquaculture.
(b) Name the two types of aquaculture and define them.
(c) List one merit and three demerits of aquaculture. 6
(%) AEITEH Td TAFM (VFheaR) § T Fas |
(@) | YR il AR (VHThooR) o 19 FaTEC, U k! gRedmsT e
() ST (YeTehe=R) & Teh 07 1 A STt 1 gft =)
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20. How does monoculture cause soil erosion? Suggest any five ways by which
you could prevent it.

T T TR I HEA I o FHRU GIT-T0EA ohd TR giar 27 foreel uter fafertt =1 gema
ifTe S 3R 219 gaT-3THRed i T Hehd

21. (@) What do you understand by the term ‘oil spill’? Give its cause. List the
impact of oil spill on marine life and algal blooms.

(b) What is acid rain? State its effect on terrestrial life, and on buildings and
monuments.

() “do-FEmE’ wee W AW R AHAd 87 FHHN HRON 150 | FYS St AR et -
W dA-EmE o g9 6 g SR

(@) et aut = Bt 87 Toefia Sfiad T U9 SARAT qe TR 0 SHeRT 9T 99T ST 27

22. What are the main objectives of the following?
(a) Kyoto Protocol
(b) Greenpeace
(c) Kalpvriksh
(d) WWF
(e} FAO
(f) CPCB
frrferfiad % et 3w 0 E7
(F) I TIrRic
(@) i
() wewE
(7) WWF
(¥) FAO

(&) CPCB
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SECTION-B
Tug-a
OPTION-I
o1

( Water Resource Management )
( ST TETYA TEed )

23. Name two contaminants of groundwater. 1
Sl o Gl 3TIGHI o HTH AT |
24. State two important uses of water for maintaining life on the earth. 1

geeft T Sffed T ST T % fTT S o €Y weul U SdrE |

25. What do you understand by artificial recharge? State any two advantages of
artificial recharge. 2

FHEH YA T TR A AT 77 HEW YA % AT S AT A

26. What was the two-set programme by which Tarun Bhagat Sangh and its
founder revolutionized life and society in the denuded desert lands in
Rajasthan? 2

31-haH FHRFEH F o7 Ok FRO TEO I 9 IR 3Tk FEAUE A TeRA H Fga qon
fiel &= § @ ATl o Sited | it anft?

27. (a) What do you mean by rainwater harvesting?
(b) How do forests help in recharging groundwater?

(c) Mention two benefits of rainwater harvesting.
(d) Name two structures that are used in Rajasthan to collect rainwater.

(e) Mention the new bylaws being introduced by town planners and civic
authorities to ensure water conservation. 6
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(%) SSI-STcT |1 H 3TTYRT AT d1ead 2 ¢

(@) a9 g5 o YA § TR TR TETErT Rd 87

(1) ANi-SicT W1 ¥ T ATCl & BIEEH ohl == shiteg |

(F) TSEAM H aui-Sicl ! THid i § T &1 TS o A1 Jarsu |

() TR ASHERAL a1 R ATTRRIN TR TA-GE0 Hl gHTed Fe & g s 1w A
srfefemt < ==t fifsm)

OPTION-II
IEET M|

( Energy and Environment )

( =Tt T e )

23. Name two non-renewable sources of energy. 1

ISl o B ISR Eidl o AT FdT8 |

24. Name one great advantage of hydropower energy. 1

T -TorsTet et o1 Uk Tl o sy

25. What are petro-crops? Give two examples. 2

UZI-3hTT AT B 87 Y IaTeX0T difee |

26. Expand the term CFL. What is the advantage of using CFL bulbs instead of
ordinary bulbs in our homes? 2

CFL 358 &l qU-90 W ey | R =0 § 9= dodl o T T CFL dcal o1 ST
LA RN FT A9 27

27. (a) What is an ecohouse? What are the energy conservation technologies used
in its construction?

(b) Name any energy-efficient public building and mention any four
technologies used. 6

() OIFaTE I BT 87 36 S § el % GLEl % fore - €t drenfifat r sem
fopam Smem 27

(@) et Tasti-ufthfiTere ufeetsr fafeen 1 am =Ry qon 3y 6t 18+ wR i
1 I I |

* ok Kk
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